Quiz 32

1) Partner opens INT. RHO passes. What is your response?

a KQ62 A J2

v 105 v Q983
* Q72 ¢ AT76
& Q843 & KQ95

Will partner bid again? If so what will you do next?

2) Partner opens INT. RHO Passes and you decide to use Stayman.
What now after each of the three possible responses?

A A532 A K832
v QJ643 v 9842
¢2 ¢ Q10542
« 984 ® -
INT 2% INT 2%
2¢ 2¢
2v 2v
24 24
3) None of these hands is suitable for using Stayman.

a AJ1072
v A984

¢+ K3

& 94

a A10832

v K943

¢ 974

&5
INT 28
2¢
2v

24

When partner opens INT what should you bid instead and why?

A 98 a KJ74 A Q10765 A 87
v Q932 v QJ83 v K85 v 98
¢+ QJ654 ¢ K4 ¢ Q832 ¢ J72
% J3 & 873 %5 « KQ9876
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